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QUESTION ONE: INVESTMENT APPRAISAL

Use the information in Resources A to D in the resource booklet, and in the box below, in addmon
to your business knowledge, to answer this question.

2

Weka TV is a New Zealand-based satellite television provider. It is the largest pay

television platform in New Zealand. Weka TV is listed on the New Zealand Stock
Exchange, the NZX.

In recent years Dingo TV, the Australian television provider, has been interested in a
take-over. Consequently, senior managers at Weka TV are focused on maintaining short-
term profits in order to reduce the likelihood of a take-over.

In 2014 Weka TV decided that it needed to add an online component to its product
range. This is expected to have a large impact on customers and other stakeholders.
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Discuss the possible causes and effects of the decision made by Weka TV to add online
content to its product mix.

In your answer, fully explain:
o TWO factors which may have caused the decision to offer online content

TWO possible effects of the decision to offer online content on the business, and on its
stakeholders, such as investors, employees, and suppliers.
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Weka TV has two potential options for adding online content to its product line; these are 35ESS0R

described in Resource D.
Evaluate the TWO possible solutions for providing online content described in Resource D,

using the investment appraisal data provided.

In your answer:
fully explain ONE positive effect that each solution would have on the business

state the solution you recommend
justify your recommendation by explaining why it is better than the other solution.
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More space for this answer is
available on the next page.
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QUESTION TWO: PROBLEMS CAUSED BY OUTSOURCING CALL CENTRES ASSESSOR'S

USE ONLY

Use the information in Resources E and F, and the box below, in addition to your business
knowledge, to answer this question.

Weka TV's expansion into online content required an increased level of administrative
and technical support for new and existing customers. The senior managers decided to
outsource their call centre to a firm in India. This soon ran into problems.

(a)  Discuss the possible causes and effects of the problems resulting from outsourcing to the
Indian call centre.

In your answer, fully explain:
s TWO factors which may have caused the problems

TWO possible effects of the decision to outsource the call centre on the business, and
on its stakeholders, such as investors, employees, and suppliers.
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(b)

(c)

6

Suggest TWO possible solutions (other than returning the call centre to New Zealand) that
the senior managers at Weka TV could employ to solve the problems presented by the
decision to outsource the call centre.
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Evaluate how the TWO possible solutions you named in (b) would address the problems
presented by the outsourcing of the call centre.

In your answer:

. fully explain ONE positive effect that each solution would have on the business
state the solution you recommend

. justify your recommendation by explaining why it is better than the other solution.
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QUESTION THREE: PROBLEMS ASSOCIATED WITH LOCATION OF A WAREHOUSE

Use the information in Resources G, H and | and the box below, in addition to your business
knowledge, to answer this question.

Weka TV imports its set-top boxes and stores them in a warehouse in central Auckland
before distribution. However, deliveries are becoming more expensive, and delivery
times are increasing.

(@) Discuss the possible causes and effects of the increasing delivery times and costs.
In your answer, fully explain:
. TWO factors which may have caused the increasing delivery times and costs

g TWO possible effects of the increasing delivery times and costs on the business, and
on its stakeholders, such as investors, employees, and suppliers.
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(b) Weka TV has found two possible options for new warehousing; these are described in AssEssor's
Resource |. '

Evaluate the TWO possible solutions in terms of how they would address the issue of
increasing delivery times and costs.

In your answer:
fully explain ONE positive effect that each solution would have on the business
state the solution you recommend
justify your recommendation by explaining why it is better than the other solution.
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Excellence exemplar for 91381, 2015 Total score: 24

Q

Grade
score

Annotation

In part (b) this candidate, one of few, managed to show the correct application
of Average Rate of Return and Payback Period theory. They were able to fully
explain the positive benefits to Weka TV in the context of the case study — that
is, improving short-term profitability was important and Option 1 with 12% pa is
the best for this. They showed understanding that payback period was about
cash flows and Option 2 was best for this, as it will allow other investment
opportunities in a fast-moving technology sector. The conclusion chooses
Option 2 and justifies it with new information by discussing what Weka TV will
gain from Star TV in a takeover, as well as contrasting with Option 1 in terms
of market flexibility.

In part (b) two reasonable solutions are identified that address the case study
problems. The candidate has then aligned these solutions to the causes and
effects they have discussed in part (a) and used appropriate business terms
such as accountability and productivity. Positive effects are fully explained by
looking at the impact each will have on Weka TV’s outsourcing issue. The
conclusion compares and contrasts the two solutions in solving the case study
outsourcing issue, and introduces new information for solution 2 in terms of
being able to be updated from anywhere in the world — not just India.

In part (b) the candidate, as with most high-level answers, is able to provide
the obvious positive effect for the Wiri warehouse. They extend this beyond
the necessary answer by discussing premium pricing. Unlike the responses
from the majority of candidates, the Sylvia Park solution’s positive effect is well
explained in relation to the storage space allowing for a greater amount of
stock to be delivered at once, utilising economies of scale. Again, the use of
business terminology in context is key in accessing the Excellence grade. The
conclusion introduces industrial inertia and the new information of having to
wait six months if Option 1 is chosen.
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